www.Padasalai.Net www.TrbTnpsc.com

No. of Printed Pages : 15 ' 3900 E) 89

AL

. 5773
% 0% 2|7 Z|

I -

Regisler Number |

Part - I1I-
senflgd / MATHEMATICS

(S01p wpmb <phe e/ Tamil & English Versions)

GCuyd @ 2¥2 anl ] ' [ Qs LHuGueTsEr : 100
Time Allowed : 2%z Hours | [Maximum Marks : 100
ofleyenr 1 (1) Sievanbg eNemESEnLD FTLNE issiL Lfeurd) 2 GTeTST CTanLISE 6

sllurTggs QeTETarayLD. cﬂ&muugﬁeﬁw Goplmide @ns
samsraiiurerfib o angwirs GsfeléEsai.

2) B Sdwg s@EOY eoiflaan wEGW GI'@G’IGLI'@E@I_I Jmmu@\ggg
Couant(RLD.  LILTRIBET eUenFeush(S Quenfler LWETLI(HSSELD.

Instructions : (1)  Check. the question paper for fairness of printing. If there is any lack of:
fairness, inform the Hall Supervisor immediately.
(2) Use Blackror-Blue.ink Lo write and pencil to draw diagrams:

@iy ;. Gcuelenrdgmer HTETE. Iiﬂrﬂraqa'mmas Q& meTL_g).

Note : This question paper: .contains four sections:
\fley- 1/ SECTION - I
(o u@.usﬁmmfrr : 15) / (Marks : 15)
@iy () @ridfelle e arer 15 NleMTESEHHESLO aﬁlsml_tuaﬂésa;mm 15x1=15

(id) Qar@&EsIULHeTeT HIesTE W) alen_safléd W&eYD Filwme
el awis CoiblsGss GO G oflenLuileneryo G’:&rr&'@

TS AYLD.
Note : {i) Answer all the 15 questions.

(i) Choose the correct answer. from the given four alternatives and write the
option code and the corresponding answer. :

[ Huys / Tum over
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1.  A={p, q 1, s}, B={r s t u) erenled, A\B =

(<=1) {p. q) (<) L u} (&) tus (") fp,q 1,8}
IfA={p,qrs),B={st u}, then A\B is:
(@) {p g ® v &l s ) fpgrs

2. 1,1,2,3,5,8... eramp Ggmrir cuflenzullen 8 -eugl o oyl

(1) 25 (<) 24 (8) 23 (F) 21
The 8 term of the sequence 1,1, 2,3, 5, 8.... is : |
(@) 25 b) 24 (© 23 (d 21

3. 1+42+3+..+n=k erafled 13+22+3+...+n° eremig :

(o) 2 (@) R @ 2 (e

[f1+2+3+..+n=Fk then 13+23+3%+_.+n> is equal to :

@ © B B © L @ ey

4. x—4y=8,3x—12y=24 erenayd swarrhsefler QsrEuins :
(1) pigefiled] Greérrremﬂésmesuﬁ]qb: SeysHeT o aTarar
(=) Sifey Gvavew
(@) @Crewrm Sray I Gid 2 ()
(7)) @ Srey GHEsend Sdag GaaTogib G(mEsaD
The system of equations x—4y=8, 3x—-12y=24 :.
(a)  has infinitely many solutions
b)  has no solution

(
(c) has a unique solution
(

d) may or may not have a solution
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ax?+bx+c=0 eTein FOGTUN g6 pPEISET FIDW eTeriled, ¢ -6 L :

(=) = (<=, o (@) i (m) =1

If ax?+ by +c=0 has equal roots, then ‘¢’ is equal to :

b2 b2 b2 b2
c Tt b e —_— I —
@ = R~ - @ =

, then A2is:

| |
w N
S -

4
IfA=[
6

16 4 R S SRR ¢
(a) _(36 QJ (b). {12 —6]' (c) [-6 %J (d) [a —3]

y-2F8pE @Qeeammurargib (-2, 5) eratm yerefl bl Gsdeugiorear
CpiraGariger Foamur( : | | |

(o) x—2=0 () x+2=0 (@) y+5'=0' (F) y—5=0
The equation of a straight line parallel to y-axis and passing through the point {—2, 5)

15 ©

@ x—2=0 (b) x+2=0 (&) y+5=0 (@ y-5=0

FTUIG 3 YEaD, Y @.@JL@'&)@]Q&T@' —&igy56|b o dter CrrsGam i e Foemum) :

(1) 3x~y—4=0 (<24)3x+y~d=0
(@) 3x—y+4=0 (FF) 3x+y+4=0
The equation of a straight line having slope 3 and y - intercept —4 is :
x+y—4=0

(@) Bx—y—4=0 (b}
3x+y+4=0

() 3x—y+4=0 EE S
‘ [ &lpliys / Turn over
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AABC -é0 AB wpgid AC -safl@emer yeteflser D whmd E eraruer DE || BC

9.
rammeunm o earerar. Gogid AD=3 Q&8 DB=2 G5, womd AE=27 g S,
eTerflen, AC =
(1) 6.5 Qg.Lb. (=) 45 Qg.8. (@) 3.5 Ge.5. (/) 5.5 @E.LS.'
In AABC, DE is || to BC, meeting AB and AC at D and E. If AD=3cm, DB=2cm md
AE=2.7 cm, then AC is equal to : i
(a) 65cm (b) 4.5 cm (©) 35 cm (d) 5 5 cm

10. AB, CD erenuer ¢(h al_L_SHle B prevsed. e SLLULEWL Gurgl
P -a shdlé&dlenpan wHmb AB=5 Q#., AP=8 @Qa.15, CD=2 Q&.5, erafle PD=
(=1) 12 Q.8 (=) 5 Qa.ib. (Q) 6 Ga.L8. () 4 Q&b

AB and CD are two chords of a circle which when produced to meet at a pomt 5 such
that AB=5 cm, AP=8 cm and CD=2 cin then PD= : v

(@) 12 cm (b) bSam () 6cm (d) 4 cm

11. (1+tan?8) sinh = ol - o
(<=1) sin®8 (=) cos?6 (@) tan?8 .' (rF) cot?6
(1+tan?8)- 5in?6 = _ o e ;
(a) sin?0 EIBY T it R T R e g R W SRR

: L 15 . '

12. LJL_gg]GD,sme == 5 eTeoled, BC =

(on 858 ()8 (@58, . (W) TS

In the adjoining figure, sinb = -11-;- Then BC=

:(b)._ 65m ' '._'(C) 95m ) 75m
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13. & Haimo engEGarargslen el b 2 W&.L5. erafled igen er@g_’, .ug)uur,n;u_{ :
(@) 12 Qe82 () 12r QB2 (@) 4w Qeuf2  (m) 3w Geib”

The total surface area of a solid hemisphere of diameter 2 cm is equal to :

(a) 12 cmz (b) 127 cm? (¢) 4w cm? (d) S cm?

- 14, x, j, 'z —ratﬂ QLL_QS]GDéSéSLb tﬂeﬁﬂ@u x+5, y'.%"‘j,,.z+5' -G é]L'_.f_'.é-ﬁ]rs\)’ej;‘s_SLb__:

S g

(o0 g e @ (e

' If  is the standard deviation of x, y, z, then the standard deviation of x+5, y+5, z+5
is AR o '

(a) % o) S (c) | (&) xyz
15. (M smuuﬂ]a) 5 &Ll 4 Gesdener wHmid 3 Seuliy BIPL LBSISET 2 eTemer.

gweuriiy peepudle @g,rrp@g,@asasuu@m GR(1h ug@ feuly Hlpwrs
: @@J@Unmaﬂ@uugmasrrem Hapssea

15 N s

(@) (@) @ = ()

. - A bag contains 5 black balls, 4 white balls and 3 red balls. Ifa bfﬂl is selected at random, i
__the pmbablhty that it is not red is : '

W | 0

( gﬂ@uq.s; / Turn over _
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Qe - I / SECTION - II
(&l ibluemEerT : 20) / (Marks : 20)
GO = ()  uSs NamssEsés el ialssan. 10x2=20

(i) eSlenm eref 30 -&e& samq LTS eSlanefésald. (e 14 allammaserfie
_@@E@J FGaaib 9 damésmans Caitey Glaueb.

Note : (i) ' .AIlbWQI‘ 10 questlons

(i) Question number 30 is compulsory Select any 9 questions from the first
' 14 questions.

16. A={a, v, y 1,5}, B=(1,3,5.7,-10) areng Qan(Bésiin’Herar asswrma@aa@
& aan il g a6 Cerly Q&msorremgj urﬂu:.rrmgj L1 6ToT L &eml_tugg erenLIang &l
LITT&SGLD. - -
Given A={a, x, y, 1, s}, B={1, 3, 5, 7,— 10} verify the co'n:'imutativi_e -property of set

union.

17 AilB 6,7 8 s Bl 11L& =10, =1, i | —13}Gr6m85f= ( y) :y..——&—é—?x,. N
Y € B} eT@T euenFILMIGSLILIL (DET6TE). .
i) f -6 2 mIILBEnET GT(HEIS.
(i) 65§D HTETS.
Let A={5,6,7, 8 ;B={-=11,4,7, =10, =7, =9, —~13} and
f{ery)  y=3-25,xc A,y e B)
(i)  Write down the eIements of f

(ii) What is the r’mge 7

8. f 32, 52,...aramp M.@@ Qpm_it ﬁurﬂe‘mguﬂm 12 %@@ RO G

md the 12th term of the AP \F 3[ 5\/— ....... _ :



19'

20.

5 M

22,

F(HEBEHE | —
H&S Sy T

Simplify : 5 e
r = =

o, B ereTueT 3x2 —6x+4=( 6T 6UTEu)ILD FOGTLIM g 651 (LPEOBISET GFGﬁﬂGD o2+ B> -
SIILE &Tes.

If o and P are the roots of the equation 3x% —6x+4=0, find the value of 62+ B2,

. letre(meuameunled e ClUmESED uenFILUMIESIILIHLTEITD HeUHEnD &HTeHTs.

4 2

[2 9 —BJ 5
4 1000
| -2 1

Find the product of the matrices, if exists.

2
AT
5 -2 1
Elmey 7
'y'-i—.:Z =0 Gﬁﬂ & : ; ;
ereafled x, i HMID z -ar WSLILSEOET STETs.
Z'—D 0
Xty 7
y+z|=|9
Fmd the values of % J"deIf Sy
. 4

[ﬁ@ﬁlq&. '/.Tufb.._ovér |




25.

27,

8

Letafl (1, 3) -3 BOHSCHTL([H enwionss Ceret p5CamenTsHlen GV (penadeT
(=7, 6) bmid (8, 5) eresited, (p&GamemsSlen epepreng; (LPEHEITERIS &GS,
If the centroid of a triangle is at (1, 3) and two of its vertices are (—7, 6) and (8, 5) then

find the third vertex of the triangle.

5x—2y-9=0, ay+2x—11=0 <y fuw CrrCarhadr amés qamm CskiGss)

GTavTled, a-em mg]uemua; &TEHTS.
Find the value of ‘a’, if the straight lines 5x—2y—-9=0 and ay+2x—11=0 are
perpendicular to each other.

UL g8led TP g QarGGan(h. A,B eramLien el S&lerr DgeiTar Leiteaer. LBTP=72°
LopmId LATB=43° erafleéy LABT -6 srems. |

N/ —

T P

In the figure TP is a tangent to the circle. A and B are two points on the circle. If
A'BTP 77" and ZATB 43° find AABT - o

AT
T P

o
+

A

(5 AABC -6 QsiiGarand ‘C -ulled) ieiowiL) GlLHOTE cos (A+B) LOHMILD sin

(A+B) -aim mé]uua;msﬁa; SITETS. |
If AABC is :1g_ht_ang1ed at ‘C’, then' find the V;}Iﬁgg of cos (A + B) and sin (A+B).

s Hamo Crieul L o (hevemulen eusvaTLIFLiL] OHMID A FHEHDETe| (LpennGuL
4400 &.Glg.15. wombd 110 Q&8 aafe, &mm@mmuﬁlm 2 LTSMSWLD,

AL LSS Srams.

- Curved surface area and circumference at the base of a solid right circular cyhndel are
4400 sq cm and 110 cm reSpectwer Fmd its helgh‘ and diameter. ' .
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28. @ Lererl efleurgde OTYLT Q6 Qs

e J&L;(gé et s @ 57 wpmib Sl Qessd 6.84 crafld,

EEFTG&{T]‘&S‘
If the coefficient of variak
ariat; ;
the mean. 100 of a collection of daty is 57 and its S.D. is 6.84, then find

29, 20 Ll (hsafla 1 ' ,
_. selliunes @@%§%2ZE@UQWW (5[?@ GTasTaRe @ MasslLl_(Hererer. FoeumilL
SEULG S e ). Sjeueumm er(h&sULl L gk._lq_@_iG'ﬁQT

GremT :

@ 4 -eT DLBETS GYmés

(i) 6 -6 WL RISTE Qdaming Bmss

ER:3 I ﬂ&@éﬁ&aﬂg&r Bspsse smers srams.

20 cards are numbered from 1
o 2 to 20. O : :
Probability that the number on the card isr:e card is drawn at rapdom. What is the

() A multiple of 4
(i) Nota multiple of 6

30. gcgi) 180° epLoiiss Camammptd 21 Qe.5. <yriph Gemam_ eu L Garenr aulg aleoren
@) mUS g&r_',bre'ar < TR QeaTsgl @ Fiby e meurssiubhsng
eTrelled oiHEmDIeT Y TEMS SIS, : :

|6060G
(=) Blapdl.
% i Fi . 5 - 2
14+ sech .sin”®
sech 1 — cosb

. {a) “ The central angle and radius Qf a sector of a circular_ disc are 180° and 21 cm
A respeéﬁvely. If the edges of the sector are joined together to make a hollow cone,
" then find the radius of the cone. | |

(b) :':.'f:.'Pfov_e that: ;

[ Spigs / Tum over
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196y - 1T / SECTION - III

(odiClLaTseT : 45) / (Marks : 45)

GOy : () GeraumLemalsaiicd FCseib 9 ellanTés@héE ellepL weflGsald.  9x5=45

i) elerm ereqr 45 -&@& Savg LTS ellenlwalssa|n. pHe 14 oSl
saflallphg 8 ellaTsasamens Caimay GFliwab.
Note : (i)  Answer 9 questions.

() Question number 45 is compulsory. Select any 8 questions from the
14 questions.

31. g aurGlermell Hlenewid, 190 wremreuiseilb jeIfEeT aSlHLLID @engulien
cumssmars Siorallss @ samsQE@OUY BLSHwg. 114 Cuir Cuopassw
Qevsenwiyib, 50 Guir ArmAw @esemwiyb, 41 CuT &TETLs QesFew LD,
14 Guir Cuhesdu Qesmub drrflu Gosewwn, 15 CGur Copasdiu
Qeemwuyn &THTLE Qameamwuub, 11 Cur sipris @esmuwd Symblw
Qasmwh wpmb 5 Cui @huamn QessmeTyn eSS amperi.
@&s5eusated(mBg LaTalmalarenHemn &Hraus.

() e cuens @edsenemD eSmbLrg wrameutsefle eranreantEens
(i) G aews Gossmar L ED bLD wrerTeuiseilsr arammfléms

(i)  Symslws @m&mu_r sl Copsssiu Glaseni @ﬂ@murrg) IDTemTeUT g6
. eTetTenlSHens. :

.A racho station surveyed 190 st‘udentq to determine the types of music they liked. The
survey revealed that 114 liked rock music, 50 liked folk music and 41 liked classical
‘music, 14 liked rock music and folk music, 15 liked rock music and classical mu51c 1

' liked c1a551cal music and foIk music, 5 liked all the I:hree of musm
':_Find (i)_' How many did not hke any of the 3 types R
(11) . I—Iow many liked any two types onIy ?

o (111) How man}’r liked folk music but not rock mu51c e




; 11 :
32. & fi =8, 7)— R & 5773
SSHULIL(DeTTermg,).

2
4x°—1 <
f(l')= 33?‘-2 2€IS§4
21-_“3 ; 4<x<7

lﬁ]emm@euemmﬁ)mméa HTGHTS (i)

f(=2)-f4)

g 10D
2f6) - f(1)

A function f: ;
unction f: [—3, 7) — R is defined as follows :

: 4x°~1 ; Bsx<2
Slx)= 822 ; 25 x4
258 g€ xRy

Himder i fl-2) -1

A £O)+ F1)
H  2£6) - f0)

33. 7477 +777 +... T Qgmila @5@ n &QJDQ&@ﬂém Fa(HHED HTEHTS.

Find the sum to n terms of the series 7+77+777 + ...

(panpullen 7 —mgj'g@;pqm 11 apeopudien 11 -eug) 2 LD
G WU LBBIUID erem Blep9&e. Qer@ésruc Herer

. - 34, (B gl (D& Qgmile 7
L oHYID Qurg elgSuirssdlenend srant

| g eraflay 18 ~eug 2
Ljemarf] Aeurmseien Ui (PSP 2 ML
. Queor ? GITEITLD FaDELD-
Sk Sth term of an Arithmetic Progression 1 equal to 11 times its 117 term,
'éfh:c?w?ﬁ;ishiis?lsfh term is zero. Can you find the first term and the common
i différence 7 Justify your answer.

_ [g@uuas / Tarn c.wer'
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35.

36.

37,

38.

- Find the area of the quadrﬂateral whose vertices are (—4,

39.

40.

12

Srrentl ILHESIS « ¥3 —5x2~2x + 24

Factorize : x3—5x2— 2y +24

: e e 1 #
F(HFHES P o
OGS x* 4+ dx+2 ;*2 + 5x +6 __:!:I2 + 4x +3

1 1
2 e et
BBy o okBupl w b EE B

Simplify :

wi L™l e s ot L Lk P AB+C AB+AC
[_1 4}, ( : 7} oHmib - C (_5 3) erafley; A( . )‘
eTanTeng sflLmT&sab. |

59 -2 5 i 4
J B= [ } and C [-—53) Verl.fy that A(B-i—C) AB+AC

HA[
14 67

(—4,5), (0, 7), (5, —=5) LOmd {—4, —2) Y SHw @D@Gﬂ&;@d‘f_& Qéwé&%f_f‘[r;rrﬁ)asngél& :

LIFLIL]| STeTs.
5), (0, 7), (5, —5) and

(4—2)

Capasv Ceppsms aipdl Hmdssaln.

State and prove Thales theorem.

700 8. e wrEdled LpHES _G]asrrsts'sﬁ'q.@és@ib'-@@-@@G&mﬂuﬂ@ﬂ@ﬁ@ QHEUT gt
<p0oler @\ asmwsaﬂsb Crprdlyms. 2_erer @) Glurml_sener 30°, 45_“ @mg_gés_ :

'.@asrrmrréjasaﬂsb 55rr60‘&ra§]gjrrr'r'6r@ﬂ6b <DOle Siswsmsds sems. (V3 = 1.732)

A person in a helicopter flying at a height of 700 m, observes two ob]ects lying opp051te '

to each other on either banks of a river. The angles of depression of the objects are 30°

a_nd 43 : fmd t_he width oflthe river. (\/g = 1.732)
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1. e GlewL_GseHTL a_rlnr_eﬂa_)rrem aireflllen GudHum LOHMD SigLm < TBISET
- popGw 15 G818 LPmIG 8 Q5.1 Guogib, b 63 0.8, aaild, s

QamereTerency el L M6y Hmesrs; (W = E_j
7

The ;‘adu of two circular ends of a frustam shaped bucket are 15 cm and 8 cm. If its

depth is 63 cm, find the Capacity of the bucket in Litres. [Take& = %)

2. @0 afrmf?;@m TLITOreans o meperufer 185 &bl @sﬁ)wgyg aulg 6@
SIHOBHIETETG]. Fal Tr&E 6 Clorgs o wipd 49 (8, @isen g lILEsSSe QL L1b
42 18, e BePETLLNESS6m o wipn 21 18 Guogib 1 818 dsgrer ganflufen allene
d '12.50_§r60f16b, FaL_MTLD ANLDES @gsﬁ)csumn“m S gen gjm’ﬂuﬁls'm eAleneeniLis STeTs. -

o i

A circus tent is to be erected in the form of a cone gu.r,mouﬁted on a_cyljl'nder'} The total
height.of the tent is 49 m. Diameter of the base is 42 m and height of the cylinder is
21 m. Find the cost of canvas needed to make the tent, if the cost of canvas is

% 12.50/m”. [Takeﬂ » 272} o

B Spser. oilLamandsd Qsr@ssiul@der ydrel darsSer S

Aesassmes saéd s :

x |38 [13]18]23
757 10|15 |10 8

L C.a'léﬁla_te-the standard deViat_iori of the following data :

18285
e

| [5@”‘45/ Tﬁm over
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44,

45.

14

(5 WLiguile 4 Qeuemenall Libgs@nLd, 6 HeuliL| LIbEISEHD, 7 as(g_r;L'{!-I L-‘fbiﬂ‘E%LP
opgitd 3 Bl LBFSEHD o eretar. GHaD G LHS) &LD@JF.HUL"H (LpenmlLhe)
o REELLGSPS anTd, SibsL LubsTarg S0 WeT(HESULILLMEUSETTS
Qriushsrer Blspsseilaner &rems. '

@) s@hyD Qaarod Ceidmeenyn Gdarod
(i) Heuliy 2jeveng Glaemener
(ili) GleueTenem oideg) HeuliL| eeg S Sides) I

A box contains 4 white balls, 6 red balls, 7 black balls and 3 blue balls. One ball is
drawn at random from the bag. Find the probability that the ball drawn is :

(i) neither white nor black
(i) red or white, and

(iii) either white or red or black or blue

(<21) samr® (1+m?)a?+2mex +c2—a2=0 -6 pPOEISET E0D erafld,
- 2=a%(1+m?) eran Hlimies. ' :

SeV6VE)

(=) 2x—3y Sl 0 x—'2'y+3._=0. eg;,é}u_l Gg,r'r(?esrr@s;e’rf FHE &G u@i‘rdﬂeﬁuum,

(3,-2) (=5, 8) %a&]m Ll6Tert & em e ) 6w 6T ds (5o ,(B;r)r’r_éﬁ_@as_rrt_(a BT 1q 651
BOULeTeTlenwd, QoamsEn Can’(d & 6meer s el g SITETOTS.

(a) If the equation (1 +m2)x2+2_mc:c+c?—_a2=_{} has equal roots, then prove that |
c2=a2(1+m2). ik e Rt

OR

i (b) 'Find'_nthe equation of the straight line segment whose tnd pdints are the pomts"'o.f"- .

oy -_mtérs_éc_tion of the straight lines 2¢—3y+4=0,x~2y+3=0 and the i
~ the line joining the points (3, ~2) and (-5, 8). : in i
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ifley - IV / SECTION - IV
(FCUeRTEET : 20) / (Marks : 20)

&SN : @@@@m@ aﬂ@naﬁ]@m 2 drar @revwr(® gy enrésefedmig o
oflammenaus Coiptshss B slemsaEmaEn eNenLefEse,D. 2x10=20

. Note : Answer both the questions choosing either of the alternatives.

46. (1) 3 Ce.1B. yrapeTer gm aul Lib CUTHE Sigen enowsHOmhEE 9 Qs.18.
%mmﬂwﬁrm 2O Heratlenws @ilss. oiliyaeflaphs al L s8ne
ECIECER BTG Sigan Berhisamer samrdsd Hs. BT "

S]6060g)
() PQ=5 G&.18, QR=4 Q#.8, LQPR=35" uopmyib ZPRS=70° 1 wSioraysar
QlEmeT_ euL_L_ BTO&TD PORS euenys. - S
(a) Draw the two tangents from a point which is 9 cm away from the centre of a
circle of radius 3 cm. Also, measure the lengths of the tangents.
OR b
(b} Construct a cyclic quadrilateral PQRS given PQ=5 cm, OR=4 cm, ZQPR=35°
and ZPRS=70".

47_. (1) y=x>+2x-3 - cuenyLILLD euenfigl, Sigemen LWELRSS x22—x—b=0
TGN EELITL LS Siésa|b.

REYVAV:S
Cauamanwrl_saflern cramanfléensx | 3 | 4 | 6| 8 | 9 16
() BrL_seflen eremmenilsens y | 9617248 |36|32]18

oIl L auameaniudéd Qar(Résiu (et eleursSlhsren el LD QU
=g apeld 12 Ceuereowm el a@@mmmmm PWeIgIns Qg
L (Digss @D BILGETIE CrETanIGMmEEDILIS SIS,
- (a) Draw the graph of y=x2+2x—3 and llgnce find the rqots of xz—x.—_b={).-
Eoned . OR
.(_b.)f . No.of workersx | 3 | 4 | 6 | 8 | 9 |16
" [Noofdaysy [96|72|48[36|32]18 _ |
" Draw graph for the data given in the table. Hence find the number Qf days _taken by 12 ;
. i '_Workers;_t.c:, C_Omp].éte the work. : :

~-oflo-



